Seat Rails, Seat Mounting Hardware, Extension Kit and
Hanger Brackets

Seat Extension Kit
used on 19-20" Deep Chairs. & Frames Shown
May also be used on 15-16" Deep Chairs. for Reference Only



Seat Rails, Seat Mounting Hardware, Extension Kit and

Hanger Brackets

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 1027684 Knob, Clamping, Black 1 2
2 2000601-NLA | NLA - Screw, Phillips Truss Head (1/4-20 x 1-1/4") 1 4
3 1118589-NLA | NLA - Bracket, Seat Mounting, Black 1 2
4 AB 8881118491 Rail, Seat, Short - Right (12 - 14" D) 1 1
4 AB 8881118492 Rail, Seat, Short - Left (12 - 14" D) 1 1
4 AB 8881118489 Rail, Seat, Long - Right (12 - 18" D) 1 1
4 AB 8881118490 Rail, Seat, Long - Left (12 - 18" D) 1 1
5 1056328 Plug Button, Black (1") 1 2
6 1025765 Locknut (1/4-28) 1 1
7 1059284-NLA | NLA - Screw, Socket Button Head (1/4-28 x 1-1/4") 1 1
8 C 1118544 Kit, Extension w/ Hardware (2") 1 1
9 D 1054571 Kit, Sector Block - Right 1 1
9 D 1054572 Kit, Sector Block - Left 1 1
9 D.E 1128280 Kit, Sector Block - Right 1 1
Block, Sector - Right 1 1
Screw, Hex Head (1/4-20 x 1-5/8") 1 1
Washer (1/4 x 1/2 x 1/16") 1 1
9 D,E 1128281 Kit, Sector Block - Left 1 1
Block, Sector - Left 1 1
Screw, Hex Head (1/4-20 x 1-5/8") 1 1
Washer (1/4 x 1/2 x 1/16") 1 1
E 1142975 Kit, Sector Block Hardware, Lift Off (Pair) 1 1
Screw, Hex Head (1/4-20 x 1-5/8") 1 2
Washer (1/4 x 1/2 x 1/16") 1 2
Block, Sector - Right 1 1
Block, Sector - Left 1 1
NOTE: A - Specify Frame Finish when ordering
B - Seat Rails Do Not include item 9, Sector Blocks. Must be ordered separately.
C - Includes Seat Extension plus items 6 and 7
D - Includes Sector Block, Washer, and Screw
E - For use on lift-off style front riggings only.




